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Question

I do not understand when the plgai! gl is Iz and when it is e

Can you please explain in light of this extract (Madinah Book 3)?
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Reply from Admin (checked by our Shaykh):

To discover the <y of an plgdiw! ew!:

1. Answer the question (i.e., make up an answer).



2. Look at the &y of the word that is the reply to the algaial.
3. The &1,#! of the word that replies to #| &Sy 49 b , is the 1,81 of

&l &S99 b in the question.
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* This is the w1,6) of the A& 4 .



The &\, of the plgésw! 4wl — which is the word 48 is:
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Qur'aanic examples:

(the reply to the algiwl gl is in the aayah that follows):
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:Leoyl 61 has the meaning of:
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The reply to this question can be construed from the context and may

be something like:
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